asym_usl

asym_dsl

asym_usr

asym_dsr

run6s5386 000 r

i m —12C

10000 —
B [ H B —10[

5000

=5000

C

II|IIII|IIIIIIIIIlIIIIIIIIIlIIIIIIIIIlIIII 0

10000 —

=40 =30 =20 =10 1] 10 20 an 40
diff_bpmXum
d.
1500 — n — 00
- —soc
1000 |
5 —700
ErI}D:— —{ 601
N m
oFm
.
-500 |~
~1000 |
_15[:”:' ||||||||||||||||||||||I||||||||||||||||||| D
40 =30 =20 =10 1] 10 20 an 40
difi _bpm1Xum
diff
- - —10(¢
8000 [
6000 [ I
4000
2000 -
ﬂ__ |
~2000 [
4000
6000 |
8000 |-
IR FR IR RN IR RN RE RN RE NI NENN| o
40 =30 =20 =10 1] 10 20 an 40
diff_bpm1Xum
diff
B —
i | — 300
1500 |-
K —80(
1000 |
R —70C
00— —gor
o ®
N
=500 —
~1000
=1500 :— I - u 10
_Eﬁnn T|||||||||||||||||| |||||||||||I|||||||||

-4 =30 -20 10" 0

egressmn'““asvm main

10000 —
B000
ﬂ_
5000 —
10000 —
||| ||||| ||||| ||||| ||||| ||||| ||||| | ﬂ
=30 =20 =10 (1] 10 20 an
diff_bpmdaYium
d'
| — —S00
1500
| [ | —{ 800
1000 | —{70¢
[ =
B —{ 600
500 N
of
u n
-500
~1000 |
- .l1 10
B n
_1EDD_||IIII|IIII|IIII|||||||||||||||||| ﬂ
=30 20 =10 (1] 10 20 an
difi_bpmda¥ium
diff
- " O a0t
8000 |-
C —180C
6000
- —{7o1
4000
C —60C
2000
'I]:— u
~2000
~4000 |-
: 201
6000 - |
- - 100
~B0O00 [ l* u
NN N NN AN RN N 0
~30 20 =10 1] 10 20 an

diff_bpmdaYium

| —
1500 —(8ot
1000 & -7t
n —60C
H I
: 500
o
n m 40
=500 —
B 300
~1000
n 200
-1500 .
. - 10(
Eﬁnn B |I 111 |III I|I | 11 |II IIJJ 1 11 |III I|II

—EI-D =20 -1

det-vs

- _ —12¢
N [ |
10000
[ " E N —10¢
5000 —lanc
ﬂ __
-5000
10000
IIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
40 =30 =20 -10 O 10 20 30 40
diff_bpmdeX/um
d .
- —{10¢
1500 — =
1000 |- —80c
500 [
B . __ED[
of
[ 400
=500 N
~1000 | 200
_1EDDITIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|III | ﬂ
40 -30 -20 -10 O 10 20 30 40
diff bpmdeX/um
l
E —10c
8000 [~
B0O00 - m
- —{aor
4000
2000 - —aor
o ™
2000 m 40
4000 -
- 200
~B000 |~
8000
ol b b v b beraa b ea b 0

40 -30 -20 -10 O 10 20 30 40
diff_bpmdeX/um

ditf_
—10C

1500
1000

500

=500

=1000

~1500 -

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

- diff bpm=

i —12¢
| |
10000 |
I m m m — 100
5000 - —anr
ﬂ __
[ =
. m
~5000
- 200
B H B
| n ]
10000 |-
I|I L 11 |II II| [ II| L1 1 I|I 1 1 I|I L1 1 D
30 =20 =10 ) 10 20 30
difi_bpmdaYium
d .
Z —lanr
1500 - .
- —anr
1000 |~ o
500 — 6ot
of
=500 :— .. I
B [ ]
~1000 |-
Z 100
| [ |
_15DD I|I L1 1 |II II| [ | II| L1 1 I|I L1 I|I L1 1 D
3 -20 -10 ) 10 20 an
difi_bpmdaYi/um
. Y
- — 100
8000
000 [ —8ot
4000
2000 oo
of
n 400
2000 [
~4000 |-
- - 300
~B000 [
8000 |- m
NN N T TN NN o
30 =20 -1D ) 10 30 a0
difi_bpmdaYium
diff _ hpméleY
: —{ant
1500
- —anr
1000 | —{700
500 :_ — 600
o
: 400
=500 —
- 00
~1000
- 300
- m
~1500 .
C 100
x L m
:ll L1 1 I|I L1 1 |II II| 1 1 II| L 11 I|I L1 1

-2{) =10

" postpan.png

10000 —

5000

=5000 —

10000 =

-200 -150 -100 -50 O 50 100
diff_bpm12X/um

diff_

1500

—100

1000

200

~500

=1000

=1500

=
_IIIII|IIII|IIII|IIII|IIII|IIII|II

200 <150 100 =50 1] 50 100

diff_bpm1 2X/um
daft_

8000

160

—14(
6000

—1100

2000

= 2000

=4000

~6000

=1
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~8000

prlvvrelvr o berrr brvrr v b o
—E[?EI 180 =100 <8R0 1] 50 100

diff_bpm12X/um
diff

1500

—100

1000

200

-500

=1000

=1500

. "=

~3000 | II|IIII| IIII|II II|IIII |IIII|II II|III

=
IIII|IIII|IIIIIIIIIIIIIIIIIIIIIIIIlIIII
|

-200 =150 =100 50 1] 50 100
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6s5386 000 r

—(20(
4000

—(80(

—{ 700
2000

—{ 600

=2000

-4000
100
_E_DDD_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII I:I
40 =30 =20 -10 O 10 20 30 40
diff_bpmXum
diff
| I
'_ — 800
1500 [ -
- — B0l
1000 —
i — 700
500 |- —60c
[ |
D:—..
-500 |~
~1000 |
_IEDDIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII I:I
40 30 -20 -10 O 10 20 30 40
difi _bpm1Xum
diff_ bpmlX
- —{o0(
4000 aor
—{ 700
2000
— 500

=2000

=4000
- 100
B |
goop L v v b v B Lana i L 0
40 30 -20 -10 0 10 20 30 40
diff_bpm1Xum
ditf_
- | —
: " —aoc
1500 -
E —80C
1000 -
N — 700
500
0Fm
I
=500
1000 |
—‘IEDU:— I. - -
coppn Ll b Beves 1 |I||||I||||I||||I||||

-4 =30 -20 10" 0

egression -reg

4000 —

2000 —

=2000 —

-4000 —

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
~6000 -30 -20 -10 0 10 20 a0 o

diff_bpmda¥ium

diff

B I
1500 |- . —sor
1000 | -7
- = —l60c
ErI}D_—
of
- |
-500
~1000 |
- .l1 100
- |
=100 e b b b b L 0
=30 20 =10 (1] 10 20 an
difi_bpmda¥ium
diff bpm4aY
: [ | [ |
4000 - hal
B —{ 700
2000 —
| —{ 600
ﬂ_
2000 —
4000
i 10
| [ |
-IE.-I}EID'I""I""I""I""I""I""I" 0
~30 20 =10 1] 10 20 an

diff_bpmdaYium

1500 —{80
1000 | —{70L
con - —B0(
: 500
o
- . m 400
=500 —
: 30(
~1000 |
- L 201
-1500 .
C - 100
E'I:I'I:II:I _I 1111 I 111 I 1 1 J_LI 1 111 I 111 I I 1 11 I I 1 1

aindet-vs di

I —{aoc
4000
. —{aor
i —{700
2000
I —lg0c
ﬂ_
~2000 |
~4000
i 100
| |
_EDDDIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ﬂ
40 =30 =20 -10 O 10 20 30 40
diff_bpmdeX/um
d.
- — —10c
1500 — =
1000 |- —80c
500 [ N
- = BOC
II]:—.-
[ 400
—E-I]D_—
~1000 20C
_15I:II:II_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ﬂ
40 -30 -20 -10 O 10 20 30 40
diff bpmdeX/um
difL
—10(
4000
- —80r
2000 -
ﬂ_
-2000
~4000
i m
—EDDD"I'"'I""I""I"”I""I"”I""I"" 0
40 -30 -20 -10 0 10 20 30 40
diff bpmdaX/um
l
: —{100
1500 |
1000 |
500 |
0 m
- .
—E-DD_—
~1000
~1500
_IIIIII_|_IIIIIIIIIIIIIIIIIIIIIII

—EI} —‘H}

5

ft"

- POS

diff_bpmdeY

2000 —

=2000 —

4000 —

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
~6000 -30 -20 -10 0 10 20 a0 o

diff_bomdeY/um

diff

B —
B —{ 00
1500 |- i
C —(80(
1000 |- o
E'I}EI:— — 600
of
—E-I}EI:— .. I
B [ |
1000 |
- 100
- [ |
- N TR RN RN F N F 0
=30 20 =10 1] 10 20 a0
diff _bpmdeium
diff bpmdeY
I m E il
B — 700
2000 —
i — 60
ﬂ_
2000 —
4000
- 101
| [ |
_ﬁﬂnn|I||||I||||I||||I||||I||||I|||| o
=30 20 =10 1] 10 20 an
difi_bpmdaYium
diff _ hpméleY
B —
—0(
1500 |-
B —180(
1000 |
- —70
500 [ —60(
I:I:— 500
B 400
=500 —
_ a0
~1000 |-
- 200
B [ |
1500 -
o 100
: [ | - [ |
EI}EIEI-I""I""I""I""I'"'I""

-20)

tpan:pne

4000 — —10L

2000 —

=2000 —

-4000 —

_ﬁﬂnnIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-200 -150 -100 -50 O 50 100
diff_bpm12X/um

diff_

1500
— 100

1000

200

~500

=1000

=1500

=
_IIIII|IIII|IIII|IIII|IIII|IIII|II

v by by by by b aa Ly
200 -150 =100 =50 0 50 100
diff_bpm12Xium

4000 — —10(

2000 —

2000 —

=4000

por vl vr o berrr brvrr bvver b e
~6000 200 =180 =100 =50 1] 50 100
difi_bom12X/um

dift_
—120

1500

— 100
1000

200

-500

=1000

=1500

. "=

_E_DEIUIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=
IIII|IIII|IIIIIIIIIIIIIIIIIIIIIIIIlIIII
|

-200 =150 =100 50 1] 50 100
diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

1000 |

-2000 |

4000

3000 [

= |

=000 :I-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpm1X

¥2 / ndf 30.57 / 31
p0 ~16.19 + 6.80
p1 -35.9+1.1

i

|

-40 30 =20 10

diif_bpmlX

500 |
400
o0

200
= |1

100 I
ﬂ_ -

-100 |- I
_200

~a00 |

- I[IHMIIII]LM | |

0 10 20 30 40
%2 ¢ ndf 35.81 7 31
p0 -1.65=£1.18
pi —0.1431£ 0.1807

|

:

40 -30 <20 10

0 10 20 30 40

diff_bpm1X

4000

¥2 [ ndf 37.06 /31
p0 -17.58 +6.25
p1 76.65 + 0.9/
2000

ol
! |
-2000 | _ Ih I{“III

-40 =30 <20 -10

0 10 20 30 40

diff_ bpml1X

¥2 { ndf 4923/ 3N
pO -1.111+£1.371

p1 0.03976 + 0.21052

100

ofF |
-100

~200

|

-300

Wﬁﬁﬂw%w%m%:I

run6586 000 regress

gre551

on asvm

diff_bpmdaY

x2/ndf  30.77/35
p0 1416 +6.63
p1 84.58 +1.16
| I
2000 1‘ - _NH
~4000 1‘ I
—Eﬂﬂﬂ:;

=30 =20 =10 1]

:
%

10 20 a0

ﬁ”“:_ %2 { ndf 37.31/35
a0 p0 ~1.362£1.183
Em:_ p1  —0.4013 £ 0.2057

it |

or I »IIIIIWWIIIIIIIIIII
-zm:u:— -
-xmnf—
ol _

plova oo bvv o b bvv bl

-30 =20 =10 1]

diff_bpmdaY

w2/ndf  41.74/35
p0 -14.71 £ 6.34
H
pi 86.05 + 1.11 /(ﬂ
I - II II‘rt,Ihr#’/
-2000 |- {IIII }
=000 l
~g000 l‘ }
Syl b b v bvraa by g b

10 20 a0

=30 =20 =10 1]

diff_

400

200

=200

400

_bpmd4aY

¥/ naf

10 20 TH

43.04 / 35

pO —0.9074 +1.3737

p1 —0.01732 + 0.24137

|
_—

|

—IIIIIIIIIIIIIIIIIIIIIJ_IIIIIIIIIIII

it

|

=30 =20

main

det“vs diff

4000
3000

2000 I
1000 _I '

=1000

= 2000

[
|tIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
—_—

=3000

diff_bpmdeX

¥2 / ndf 34.61 /32
pO -16.411 6.81
p1 -30.34 £ 1.08

| IIIIIII *\\WM}

40 =30

ditt_

500

400

300

200

100

!
—_—i

=100

=200

=300 [

h

20 <10 0 10 20

2 { ndf

bpm4deX

a0 40

54.57 132
po -1.604 £1.178

p1 -0.1818 = 0.1841

IIIIIIIMIIIM

40 -30

20 =10 0 10 20

a0 40

diff_bpmdeX

12 [ ndf 30.44 7 32
pO —18.5+6.2 “
Pl 84.72+0.98 + }III |
C ++II+I I
of /
i - I #H
~2000 |- Jﬂj Wﬁ'ﬁ
=4000 }' ] II
~6000 ;ﬂIl ..fl....l....l. oo b by b
-40 =30 =20 -10 0 10 20 30 40

diff_bpmdeX

%2/ ndf 36.63 / 32
p0 -1.119 £ 1.370
p1 0127 £ 0.214
400

200

|

1
—_—

=200

II

IIIIIJ_LIIIIIIIIIIIIIIIIIIII

IIIHIIMI IIII 4

“bpm-

fit

diff_bpmdeY

¥e | ndf 3547 /34
00 ~14.87 + 6.48 I ¥
o1 111.8+13 )
ol — -I:I-I- |-I
i ++HIIII
or
i }
= 2000 ?' i thqwﬁ
-mnn:— i H
:IIIIIIIIIIII|I|IIIIIIIIIIII|I|I
=30 =20 =10 1] 10 20 a0
(glff_hpmélﬂ
12 I ndf 08.44 34
400 I pO0 _1.205 +1.179
200 |- p1 _0.4646 £ 0.2341
of I II%M IIII '*I
—E-I}EI:—
400 |-
_g00 |- _ o
_|I||||I||||I||||I||||I||||I||||
=30 20 =10 1] 10 20 an
EI’l‘h‘.ZII 23 42 /34 }
p0  —142+6.2
pl 1123 +1.2 IIII
P BN N ;l-ﬂII-II'II'I }

b,

= 2000 —

~ 4000 — {
~6000 | B | | | | |
| L 1 11 L 111 L1 11 L 1 11 L 111 L1 11
a0 -20 10 0 10 20 30
72 | ndf 34 01/34
p0 —-0.8049 +1.3687
p1 01811 0.2738
100 | | III
: I IIII
DE- ] I 1 ﬂI { _
~100 | I H I
~200 |
300 — I
[ 1 I L 1 11 I L 111 I L1 11 I L1 1 | I L 11 | I L1111 |
20 -10

postpan pnge

°1

12000

10000

8000

6000

4000

2000

= 2000

=4000

~6000

8000

iff bpml2X

B %2 / ndf 26.12 /25
p0 -6.705 £+ 4313
t
Y p -55.81 £ 0.19
_I++I+L,ﬁ
o
uﬂI
tH-
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII_IIII

200 -150 100 -50 1] 50 100 150

diff_bpm12X

¥ 2/ ndf 30.61/ 25
p0 —~1.658 + 1.180 |
p1 0.09101 £ 0.05087 ]l
st ]
n myi }
- 200 — ]
-4&0:-
-600 —
"E"I:III:II_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII_III

diff _

8000

6000

4000

2000

=2000

-4000

= 6000

diff_bpm12X

400

300

200

100

=100

=200

=300

~400

200 <150 -100 -50 1] 50 100 150

- ¥ /ndf  2561/25
) I p0 -5.031x 4.461
I]lIIIH*h p1 -50.58 £ 0.19

uﬁﬁ I

+I1}+

coc o b b b b b b

T T TTTTTTTTTTTTTTT T TTTTIITIOTITN TTTT TTTT TTTT
il I I I I I I I I I

200 =150 -100 -50 1] 50 100 150

‘3{2 ! nat 14.13 /7 25

pO 06008 + 1.3698

p1 —0.068391 + 0.05891
_ | HIM"”‘“*"‘“"“‘“I III

]

—EﬂD =150 =100 -50 1] 50 100 150



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6586 000 re

diff bpm1X

¥ | ndf 2174131
p0 ~2.867 + 4.043
pl  0.03672 + 0.61689
300 |
ol 8 [T ——— I -
3 III ' II
_500 [ I
1000 u

%91

500

400

300

200

100

-100

- 200

=300

-40 30 -20 10 0 10 20 30 40
1_{ naf 3567 /3
pO -1.692+1.179

p1 —0.04868 + 0.18067

}

| }WWWHW I

| I'

—4D 30 =20 10 0 10 20 30 40

diff_bpm1X

%2 / ndf 33.02 / 31
po _6.698 + 4.036
pi 0.2104 + 0.6197
TR0 ‘

500

]

=500

=1000

IIIWWIIII I

-l i

-40 -30 -20 10 0 10 20 30 40

diff_ bpml1X

w2 | ndf 48.96 / 31
po -1.109 + 1.371 -
pi 0.1616 + 0.2104
100 F I I I
- 1 {
ofF IIIIIhW’r } |
- t
-100 I H I
=200 ;— I
-:mnf— )

—rIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIIIII

oressl

-40 =30 =20 -10

diff_bpmdaY

72 { ndf 35.82 / 35 ool ¥2 { ndf 11.95/32
p0 -2.615 + 4.048 800 | p0 _274 + 4.04
I 00
p1 0.8944 + 0.7043 | - pl  —0.01469 + 0.62979
400 |
-]l II :
B 200 |
o -l IIIIMIII : I
C (] oF MI(II .
so0 - I 200 T I )
i -400 |-
~1000 - —EDD:—
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII _'E"I:III:I_I_III_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
=30 =20 =10 0 10 20 30 =40 =30 =20 =10 0 10 20 30 40
diff_bpm4aY diff_bpmdeX
8O0 — ~ —
- w2 f ndf 37.07 /35 - ¥2 | ndf 55.15 / 32
| 500 |
4001 p0 ~1.368 + 1.183 ook p0 ~164+1.18
200 - p1 ~0.1287 + 0.2057 300 F p1 ~0.1215 £ 0.1841
| I { I znnf— |
o |l I ITII"“*‘“"“""‘“""‘"“’*E“HII{III - :
- I IhIH" * wofE :
i S : '
1T Pty
i 100 i ' I
=400 — - -
| 200 |
00 _ -
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII _EIDDIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
-30 20 =10 0 10 20 30 -40 =30 =20 -10 0 10 20 30 40

E

bpmdeX

diff_bpmdaY

diff_bpmdeX

0.1302 £ 0.6312

2948 /32

172 £ 4.034

—+

—?—:1:._

==

=

0.2027 £0.2143

30 =20 10 O 10 20

118 = 1.370

36.35/32

e

EIr'n::II 454 /35 E.III'IC"
po -7.917 = 4.053 p0 -7
p1 0.1842 + 0.7072 “ p1
: Vi F
of MIIIIIIIIIIWIIIIIIII 500 - I
_500 E
- I I 0
~1000 I . I
- I 500 -
-1500 -
- 1000 [
-2000 N
=2E00 iiIII prlvvea b vvra v b araa b |||I_|| 1500 [ )
a0 -0 -10 O 10 20 a0 _40
diff_bpmdaY
GO0 —
. %2 | ndf 43.11/35 12 / ndf
wol- pO —0.909 + 1.373 p0 1
: - p1 —0.09858 + 0.24133 pI
200 w -
C 400 {
= I‘IIIIIIII#MIIIIIIII 200 -
[ I I oF
—zon b | [
I -200
) —_I I L1 11 I 1 11 I 11 J_LI L1 11 I 1 11 I I 1 11 I I 11 _WD |_ I

indet v

on reg main

III_IJIIIIIIIIIIIIIIIIIIIII

=
-I-I
-

—_
— =

i 40

diff_bpmdeX

s diff

=

diff_bpmdeY

%2 / ndf 29.1 /34

p0 -3.299 + 4.037

p1 1.237 + 0.802

TS0

1000 - -

soof }\}

uf— - IIIIIIHWWMI&IIII

:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
30 =20 =10 O 1 20 30

|

400

200

- 200

- 400

-600

=

2000

1000

= 1000

= 2000

diff_bpmdeY

¥ </ ndf

pO

p1

5 %2 { ndi 28.33 /34
- { po 1.221+1.179
[ p1 -0.1328 £ 0.2341
i t H ‘
_I I I_I_I | I L1 1 1 I L1 11 I L1 11 I L1 1 1 I L1 11

=30 20 =10 1] 10 20 a0

iff bpmdeY

|

WWI;MW‘:I WI |

¥* { ndf 2821734
p0 —/.857 + 4.036

p1 —0.01878 + 0.80094

.I.

-30

=20 =10

3422 [ 34

—0.8058 + 1.3684

0.05897 + 027381

100

1]

=100

=200

-300

HII

III‘WWIII

1] 10 20 a0

1f“’_‘”p0stp

=20 =10

a0

an.png

diff_bpm12X

}:2 { naf 24.25 7 25
pO —5.582 + 4 032
pl 0.07614 £ 017415 I}
ok |IIWI*IIWMIHI II -
“1000 I
_2000 | )
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII_IIII

200 -150 100 -50 1] 50 100 150

diff_bpm12X

:{2 ! naf 3157/ 25
p0 ~1.674+1.179 H
p1 0.03124 + 0.05086 ]l
- T } I
- 200 ) I 1
=400
—g00 —
_EI:IIDI_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII_III

200 <150 -100 -50 1] 50 100 150

diff_bpm12X

p0

p1

¥/ ndi

25.48 /25

—6.69 + 4.03

0.007152 £ 0.174140

500

1]

-500

=1000

=1500

%
E

3

300

200

100

=100

=200

-300

- 400

[ TTT TTTT T TTTTTTTT]TTTTIT]TI
I I I I I

IIIIIM% '
I}

200 =150 -100 -50 1] 50 100 150

2 | ndf 14.25 / 25
- p0 —0.5992 + 1.3694
_ p1 —0.04434 + 0.05890
e H IIIIIIIH "“*’"“"""*”IHI }

'_I_I 11 I L1 11 I L1111 I 1111 I 1111 I 111 I L1 11 I 1111 I

-200 =150 -100 =50 1] 50 100 150



asym_usl

asym_dsl

asym_usr

asym_dsr

run6s5386 000 r

10000

5000

=5000

10000

-40  -30 <20 =10

1500

1000

500

=500

=1000

=1500

8000

6000

4000

2000

=2000

=4000

-6000

-8000

1500

1000

500

=500

=1000

=1500

=2000

0 10 20 a0 40
diff_bpmXum

40  -30 =20 10

0 10 20 an 40
difi _bpm1Xum

40  -30 <20 10

0 10 20 30 40
diff_bpm1Xum

40 =30 =20 =10

1]

egression-asym main

10000 =

5000

=5000 —

10000 =

30 -20 -10 0 10 20 a0
diff_bpmda¥ium

1500

1000

500

- 500

=1000

=1500

=30 =20 =10 1] 10 20 a0
diff_bpmda/um

8000

6000

4000

2000

=2000

=4000

6000

8000

30 -20 -10 0 10 20 30
diff_bpmdaYium

1500

1000

500

=500

=1000

=1500

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII

v loaaal ||||| RN NN NN
-2000 —3D =20 -1

detvs

10000 —

5000 =

=5000 [~

10000 =

-40  -30 <20

1500 —

1000 -

00—

500 —

1000 |-

1500 -

10 0 10 20 30 40
diff_bpmdeX/um

-40  -30 =20

8000

6000

4000

2000

= 2000

~4000

~6000

8000

=
—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=10 0 10 20 30 40
diff_bpmdaX/um

-40  -30 =20

1500

1000

500

=500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

10 0 10 20 30 40
diff_bpmdeX/um

ditf ‘Borisseat

10000 [—

5000 -

=5000 —

10000 =

| | 1 111 | | I | | 1 111 | 1 111 | | I | | 1 111
a0 -20 -10 0 10 20 a0
diff_bomdeY/um

1500 —

1000 |-

00—

500

=1000

=1500

I T T T T T B A O O
-30 20 =10 0 10 20 30
diff_bpmdea¥ium

8000

6000

4000

2000

= 2000

=4000

= 6000

= 8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

S

20 10 0 10 20 a0
diff_bpmdaY/um

1500

1000

500

=500

= 1000

= 1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

postpan:pne

= 2000

10000 —

5000 —

=5000 —

10000 =

200 =150

1500 —

1000

200 —

500 —

=1000 =

=1500 —

=100

50 0 50 100
diff_bpm12X/um

200 =150

8000

6000

4000

2000

= 2000

=4000

~6000

~8000

=1
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=100

-50 1] 50 100
diff_bpm1 2X/um

200 =150

1500

1000

200

-500

=1000

=1500

=
IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII

=100

50 0 50 100
diff_bpm12X/um

il by
-2000 200 =150

=100

-50 1] 50 100
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6s5386 000 r

4000

2000 —

2000 —

4000 —

_E_DDDII|IIII|IIIIIIIII|IIIIIIIIIlIIIIIIIIIlIIII

40 30 20 10 O 10 20 30 40

diff_bpmXum

1500 —

1000

00—

500 —

1000 —

=1500

40 =30 20 10 0 10 20 30 40

difi _bpm1Xum

4000

2000 —

2000 —

4000 —

-E'E'DUIlllllllllllllllllllIIIII”'””'””"”'

40 =30 =20 10 0 10 20 30 40

diff_bpm1Xum

1500
1000

00—

50
1000 |-

=1500

2000 To a0 20 0@ 0

4000

2000

=2000

-4000

~6000

1500

1000

500

- 500

=1000

=1500

4000

2000

=2000

=4000

~6000

1500

1000

500

=500

=1000

=1500

=2000

diff_bpmda¥ium

diff_bpmda/um

diff_bpmdaYium

IIIIII|IIJ_L| II|II

indet-vs di

egression -reg main

4000

2000 —

=2000 —

-4000 —

_IIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
6000 TahT s 20 10 0 10 20 30 4D
diff_bpmdeX/um

1500 —

1000 [~

00—

500 —

=1000 —

1500 b v b b b b b ber i b
40 30 20 -1 0 10 20 30 40
diff_bpmdeaXium

4000

2000 —

2000 —

-4000 —

pelvvvrberrr bvvra bvvrr b v b ban
~6000 40 =30 =20 =10 1] 10 20 an 40
diff_bpmdeXium

1500

1000

500 —

~1000

=1500

ff“ bhpm-scat postp:

4000

2000

= 2000

=4000

= 6000

=30 =20 =10 1] 10 20 30

diff_bomdeY/um

1500

1000

500

=500

= 1000

=1500

=30 =20 =10 1] 10 20 30

diff_bpmday/um

4000

2000 —

2000 —

=4000

_BO00 v v v v v v b b b

4000 —

2000 —

=2000 —

~4000 LT

1 11 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 111
6000 TTToon —180 -100 -850 0 50 100
diff_bpm12X/um

1500 —
1000 —

200 —

500 —

=1000 =

=1500 —~

coalev s by by ey by s Ly g iy
200 -150 =100 =50 0 50 100
diff_bpm12Xium

4000

2000 —

2000 —

- 4000 |- A

por vl vr o berrr brvrr bvver b e
~6000 200 =180 =100 =50 1] 50 100
difi_bom12X/um

1500
1000

200

-500

=1000

~1500

oo v bvnn b b b B aa lan g
-2000 -200 -150 -100 =50 1] 50 100
diff_bpm12X/um




